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40 |= b B 88.7% 40 [+ ¥ 12 78.2% 40 | = b1 B8 80.1% 40 |= b1y 18 86.9% 40 |48 B 18 64.3%
40 [ g = 88.7% [ANES F = 77.8% 41 | & F 18 79.6% 40 | 5 18 86.9% M1 15 pall 12 64.2%
42 |& F 182 88.6% 42 | B 5 18 17.7% 41 |+ = 18 79.6% 42 | & )1 15 86.5% 42 |5 Fo3 12 63.2%
42 |& JII 182 88.6% 43 |& & 15 77.4% 43 | & &= 182 79.1% 43 | & gl 15 86.4% 43 |&= = & 63.1%
44 | & & 182 88.4% 43 | & 40 18 77.4% 44 | 5 182 78.6% 44 1= g} 15 86.3% 44 | I& = = 62.6%
45 |F I 15 88.3% 45 | & JI| = 77.1% 44 | & 40 2 78.6% 45 | & 1B ! 85.8% 45 |F -3 =] 61.4%
46 [Fk H =8 88.0% 46 |15 1B = 76.8% 46 |FX H 2 78.4% 46 |Fk H 182 85.1% 46 1L i =] 60.0%
47 |= 40 2 87.5% 47 |Fk H 12 75.7% 47 |& )l = 78.1% 47 | & = 2! 84.9% 47 | B 5 2! 58.8%
E B 90.7% T B 82.2% T B 83.1% T B 89.2% I8 71.9%
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